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*P44392A01624*

16  ABCD is a kite.

 AB  = 3 cm
 BC  = 8 cm
 Angle ABC  = 110°

 Calculate the area of the kite ABCD.
 Give your answer correct to 3 significant figures.
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(Total for Question 16 is 3 marks)
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1. [3 marks]

Note that these questions are sorted in date order (most recent questions first).
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*P42940A01420*

14 D is directly proportional to t2
 When t = 4, D = 8

 (a) Find a formula for D in terms of t.

. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

(3)

 (b) Find the positive value of t when D = 50

t = .. . . . . . . . . . . . . . . . . . . . . . . . . . .

(2)

(Total for Question 14 is 5 marks)

15 

 ABCD is a parallelogram.
 AB = 8.9 cm.
 AD = 6.7 cm.
 Angle BAD = 74°

 Calculate the area of parallelogram ABCD.
 Give your answer correct to 3 significant figures.

.. . . . . . . . . . . . . . . . . . . . . . . . . . . cm2

(Total for Question 15 is 3 marks)
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2. [3 marks]

Note that these questions are sorted in date order (most recent questions first).

January 2014, 3H Q15:  3 Marks
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 Calculate the length of AB. 
 Give your answer correct to 3 significant figures. 
 

 

 

 

 

 

 

 

 

 
 
  ..........................................................  

[3 marks] 
 

2. 

 

 

 

Diagram NOT 
accurately drawn 

 

 Calculate the area of triangle ABC. 
 Give your answer correct to 3 significant figures. 
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3. [4 marks]

Note that these questions are sorted in date order (most recent questions first).

November by Maths4Everyone.com, Extra Q14:  4 Marks
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4. [6 marks]

Note that these questions are sorted in date order (most recent questions first).

November 2010, 3H Q19:  6 Marks
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5. [4 marks]

Note that these questions are sorted in date order (most recent questions first).

May 2008, 4H Q22:  4 Marks
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22 (a  + b )2 = 49 + 12 b   where a and b are integers, and b is prime.

 Find the value of a and the value of b

a = .. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . 

b = .. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . 

(Total for Question 22 is 3 marks)

23 ABC is a triangle.

 AB = 12 cm
 AC = 14 cm
 The area of triangle ABC is 72 cm2

 Find, in degrees, the two possible sizes of angle BAC.
 Give your answers correct to the nearest degree.

.. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . 

(Total for Question 23 is 4 marks)

6. [4 marks]

Note that these questions are sorted in date order (most recent questions first).

January 2016, 4HR Q23:  4 Marks
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*P44619A01920* Turn over     

23 Here is triangle LMN, where angle LMN is an obtuse angle.

 ML   13.8 cm
 MN   8.5 cm
 Angle MNL   47°

 Work out the area of triangle LMN.
 Give your answer correct to 3 significant figures.

.. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .cm2

(Total for Question 23 is 6 marks)
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7. [6 marks]

Note that these questions are sorted in date order (most recent questions first).

January 2015, 3HR Q23:  6 Marks
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8. [4 marks]

Note that these questions are sorted in date order (most recent questions first).

November 2006, 4H Q24:  4 Marks



18
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21 Here is a shape.

 The shape is made from triangle ABC and a sector of a circle, centre C and radius CA.
 CA = 7 cm.
 CB = 16 cm.
 Angle ACB!"!#$%&

 Calculate the area of the shape.
 Give your answer correct to 3 significant figures.

. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . cm2

(Total for Question 21 is 6 marks)
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9. [6 marks]

Note that these questions are sorted in date order (most recent questions first).

May 2013, 3H Q21:  6 Marks


